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57172
33883
77950
11607
56149
80719
93809
40950
12182
3382
3
60728
01881
23094
15243
53501
07698
22921
68127
55309
92034
50612
81415
38461
07556
60557

70098
28923
10609
01796
38169
77729
82000
48161
65695

73151

48859
12431
46747
95387
48125
68149
01161
79579
37484
36439
69853
41387
32168
30953
88753
75829

11333
15659
87119
24498
47228
83949
79068
17646
83710
48724
75654
23898
08846
23917
05243
25405
01527
43488
99278
65660
06175
54107
17822
08633
71626
05622

26902
09839
15859
17009
49931
83358
45552
24164
41125
35670
17152
23683
01331
07421
16181
23463
17046
13211
28751
72554
61221
09190
49946
08049
64864
30237

29959
45817
74577
67119
94303
75230
86776
35513
14291
38453
66516
10853
88163
97869
39641
49168
31460
71120
80855
77021
76825
74305
37545
68698
54986
77795

43909
89405
42791
00614
67448
56624
48980
94057
74773
63154
78796
04038
74462
88092
36970
02048
91507
91715
02035
46279
18239
68196
47201
08759
38964
41870

49607
70743
75889
49529
31286
27549
56684
51834
66391
58116
73099
75246
14551
72201
99522
31522
16050
49881
10910
22705
47687
75634
85224
45611
83534
26300
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) Open soft i

v)In a cell write:“srand(” and enter
¥)In the next cell write: “cell before =N of study population and
enter:the round number is your first sample’s number

f) Repeat this until reach the n of your sample

XH9-o-|5 Eld9- s HNEHD- =
a2 -l X
By - By~ ﬁ N Calibri
Paste B 7 U Paste B 7 U i 4 EETR
| 4 o Paste B 7 U-~
Clipboard 7 | » Clipboard 15 | Font - u
SUM M SUM (" X f Clipboard = F
l-rl-
A B A | B c | B1 -
1 |=rand() 1 [ 0.873755/=A1*100| A B
=N 2 1 | 0.417446] 41.74462]
3 3 2
4 4 2




X 4 1l
Bottom:
return.

Top: is the largest integer RANDBETWEEN will
return.

Example
=RANDBETWEEN(1,1200)

IS the smallest integer RANDBETWEEN will



473 1067 456
247 /18
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